Project: Washington Station Condominius,
Address: 20 Auduban Way , Caton , MA 02021
Scope:  Drywall Takeoft
Date: 4142024
e QUANTITY  UNIT QUANTITY VATERIAL LABOR EQUIPMENT MATERIAL LABOR EQUPMENT (o oo
= RATE  RATE RATE COSTS  COSTS  COSTS =
WASTAGE
1000 GENERAL REQUIREMENTS
1 Supervision and Coordination 1 Ls 10% 110 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 5000
2 Submittals and Shop drawings 1 s 10% 110 $0.00 5000 $0.00 $0.00 $0.00 $0.00 5000
3 Final Cleaning 1 Ls 10% 110 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 5000
4 Mobilization Costs 1 s 10% 110 $0.00 5000 $0.00 $0.00 $0.00 $0.00 50.00
5 Bond @ 2% 1 Ls 10% 110 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 5000
6 Temporary Control & Facilies 1 s 10% 110 $0.00 5000 $0.00 $0.00 $0.00 $0.00 5000
7 Scaffolding 1 Ls 10% 110 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 5000
SUBTOTAL $0.00
5000 Metal
Tewel
8 Wall tvne 1 (358" 76500 I3
o Assumed 578" Steel Studs (H =10-112_@ 24" OC 387281 T3 10% 4260.09 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
10 Spacing 58" Bottom Track 76500 T3 10% 84150 0,00 50,00 0,00 50,00 50,00 50,00 50.00
1 1 5/8" Ton Track 76500 I3 10% 84150 0,00 50,00 $0.00 $0.00 $0.00 $0.00 50.00
Tewel
Wall tvne 1 (512" ) 21800 I3
ASSUMEd |3.5/6" Steel Studs (H =12-01 @ 24" OC 211613 T3 10% 232774 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
Spacing__[3.5/8" Bottom Track 41800 T3 10% 459,80 50,00 50,00 50,00 50,00 50,00 50,00 50,00
3.5/8" Ton Track 41800 I3 10% 459.80 $0.00 50,00 $0.00 $0.00 $0.00 $0.00 50,00
Tewel
16 Wall Tune 2 51800 I3
17 Assumed |2 1/2" C-H Steel Studs (H =10-11/2")_@ 24' OC 262238 T3 10% 2884.61 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
16| spacing & Stud [21/2" Bottom Track 51800 T3 10% 560.60 50,00 50,00 0,00 0,00 0,00 0,00 50.00
19 2 1/2" Ton Track 51800 I3 10% 569.60 $0.00 50,00 $0.00 $0.00 $0.00 $0.00 50,00
Tewez
20 Wall tvne 1 (3.58" 76900 I3
21 Assumed 5/8" Steel Studs (H =10-112_@ 24" OC 389306 T3 10% 428237 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 5000
2 Spacing Bottom Track 769.00 T3 10% 845.90 0,00 50,00 0,00 50,00 50,00 0,00 50,00
23 1 5/8" Ton Track 76900 I3 10% 845.90 $0.00 50,00 $0.00 $0.00 $0.00 $0.00 50.00
Tewez
Wall tvne 1 (512" ) 7300 I3
ASSUMEd | 3.5/6" Steel Studs (H=12-01 @ 24" OC 188831 T3 10% 2077.14 0,00 $0.00 0,00 $0.00 $0.00 $0.00 5000
Spacing__[3.5/"Bottom Track 37300 T3 10% 410.30 50,00 50,00 50,00 50,00 50,00 50,00 50.00
3.5/8" Ton Track 37300 I3 10% 410.30 $0.00 50,00 $0.00 $0.00 $0.00 $0.00 50.00
Tewer
%8 Wall Tune 2 54300 e
29 ASSUMEd |2 117" C-H Steel Siuds (H =10-1 17 @ 24" 0C 274894 T3 10% 302383 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
a0 Assembl ottom Track 543,00 I3 10% 597.30 0,00 50,00 0,00 0,00 0,00 0,00 50.00
3 on Track 54300 I3 10% 597.30 0,00 50,00 0,00 0,00 0,00 0,00 50.00
Tewes
Wall tvne 1 (358" ) 76700 e
ASSUMEd | 1. S/A" Steel Sturs (H =10-1112_@ 24 OC 388294 T3 10% 427123 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
Spacing __[1-5/8" Bottom Track 76700 I3 10% 843.70 0,00 50,00 0,00 0,00 0,00 0,00 50.00
- 5/8 Ton Track 76700 I3 10% 843.70 0,00 50,00 0,00 0,00 0,00 0,00 50.00
Tewes ——
Wall tvne 1 (511" \ 37700 e
ASSUMEd  |3.5/8' Steel Sturs (H =17-0_@ 24" OC 188305 T3 10% 207158 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
Spacing __[3-5/A" Boftom Track 37200 I3 10% 409.20 50,00 50,00 0,00 0,00 0,00 0,00 50.00
3.5/8" Ton Track 37200 I3 10% 409.20 50,00 50,00 0,00 0,00 0,00 0,00 50.00
Tewes
0 Wall Tune 2 e
) ASSUMEd |2 117" C-H Steel Siuds (H =101 1/7_@ 24" OC T3 10% 3007.13 0,00 $0.00 0,00 $0.00 $0.00 $0.00 50.00
ra Assembl attom 13 10% 504,00 50,00 50,00 0,00 0,00 0,00 0,00 50.00
a3 on Track I3 10% 594,00 0,00 50,00 0,00 0,00 0,00 0,00 50.00
Py 76500 e
5 Assumed 392063 T3 10% 431269 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
6 Spacing 76500 I3 10% 84150 50,00 50,00 0,00 0,00 0,00 0,00 50.00
a7 76500 I3 10% 84150 0,00 50,00 0,00 0,00 0,00 0,00 50.00
8 21800 e
49 ASSUMEd  [3.5/8" Stenl S -0 1/4"_@ 24" ¢ 214295 T3 10% 2356.48 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
50 Spacing __[3-5/A" Boftom Track 41800 I3 10% 459,80 50,00 50,00 0,00 0,00 0,00 0,00 50.00
51 3.5/8" Ton Track 41800 I3 10% 459,80 50,00 50,00 0,00 0,00 0,00 0,00 50.00
Tewela
5 Wall Tune 2 51800 e
53 Assumed 11" C-H Steel Stids (H =10-0 1/41_@ 24" OC 265075 T3 10% 292023 0,00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
54 Assembl ottom Track 518,00 I3 10% 560.80 50,00 50,00 0,00 0,00 0,00 0,00 50.00
55 on Track 51800 I3 10% 569.80 50,00 50,00 0,00 0,00 0,00 0,00 50.00
SUBTOTAL #REF!
9000 FINISHES
Interior non hearing Wall (Tvne 1) 3-5/8" 765 I3
1 Laver 5/8" Tune X Plaster Base with olaster Veneer on Each Side. 12.744.90 SE 10% 1401939 | $000 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
459 GB Sheet] 355 Sheets
Sandina Dist 7 Each
250 Tane Roll|___34 Rolls
rC d Gallons
Joint C d Each
/4" Drwall Screws| Pounds
1-1/4” Drwall Screws| Case
64, Soona Each
Interior non hearing Wall (Tvne 1) 512" 418,00 I3
1 Laver 5/8" Tune X Plaster Base with olaster Veneer on Each Side. 6.963.68 SE 10% 766027 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
459 GB Sheet] 194 Sheets
Sandina Dist 4 Each
250 Tave Roll Rolls
Joint C d Gallons
d Each
11/a" Drwall Screws| Pounds
1-1/4” Drwall Screws| Case
Soona Each
[75 | Assumed [interior bearina Wall (Tvne 2) 517 54800 I3
Assembly _[2 Laver 5/8" Tvne X Plaster Base with plaster Veneer on Each Side 1825036 SE 10% 2008530 | $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
459 GB Sheet] 508 Sheets
Sandina Dist Each
250 Tave Roll|__a Rolls
Joint C d Gallons
Joint C d Each
11/a" Drwall Screws| Pounds
1-1/a” Drwall Screws| Case
73 Soona Each
Exterior Wall (Tvne 3) 511" 76700 I3
1 Laver 518" Tvve X Plaster Base with olaster Veneer on one Side 638011 SE 10% 7028.02 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
459 GB Sheet] _178 Sheets
Sandina Dist Each
250 Tave Roll|__1. Rolls
E7 Gallons
1 Each
1174 Drvwall Screws| 34 Pounds
1-1/4" Drvwall Screws| 1. Case
Soonges| 6 Each
Interior Party Wall (Tvne &) 8" 18R00 I3
1 Laver 5/8" Tune X Sound Break board 1566.04 SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
459 GB Sheel] 4 Sheets
‘Sandina Disc] Each
250 Tae Rol Rolls
Gallons
1 Each
101 1174 Drvwal Screws| Pounds
102 1-1/4" Drvwall Screws| Case
103 Soona Each
Interior Party Wall (Tvne 4 8" 18R00 I3
1 Laver 5/8" Tune X Plaster base 1566.04 SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
459 GB Sheel] 4 Sheets
‘Sandina Disc] Each
250 Tae Rol Rolls
Gallons
Each
1174 Drvwal Screws| Pounds
1-1/4" Drvwall Screws| Case
Soona Each
Interior Party Wall (Tvne &) 8" 18R00 I3
3 1 Laver 5/8" Tune X Plaster base with veneer Plaster 1566.04 SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
459 GB Sheel] 4 Sheets
‘Sandina Disc] Each
250 Tae Roll Rols
Gallons
Each
11/a" Drwall Screws| Pounds
1-1/4” Drwall Screws| Case
Soona Each
Corridar_hearina Wall (Tvne & 6:112" 51400 I3
1 Laver 5/8" Tvne X Sound Break board 428162 SE 10% 4709.78 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
459 GB Sheet] 110 Sheets
‘Sandina Disc] & Each
250 Tane Roll|__1: Rolls
2 Gallons.
T Each
1-1/4" Drvwall Screws| 2 Pounds
1-1/4" Drvwall Serews| 11 Case
Soonaes| 4.6 Each




Corridor_bearina Wall (Tvoe 5) 5-1/2" 514.00 LE
1 Laver 5/8" Tvne X Plaster base and veneer plaster 428162 E3 10% 470978 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
49 GB Sheet| 110 Sheets
‘Sandina Disc| h
250 Tave Roll Rolis
Joint Compound| Gallons.
Joint Compound] Each
114" Drvwall Screws| Pounds.
1-1/4" Drvwall Screws| kY Case
Soonges| Each
Corridor_bearina Wall (Tvoe 5) 5-1/2" 514.00 LE
2 Laver 5/8" Tvne X Plaster base with olaster veneer 8.563.24 E3 10% 941956 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
49 GB Sheet| 238 Sheets
‘Sandina Disc| h
250 Tave Roll Rolis
Joint Compound| Gallons.
Joint Compound| Each
14 114" Drvwall Screws| Pounds.
150 1-1/4" Drvwall Screws| Case
151 Soonaes| Each
152 Stairwell Wall or Cmu Wall (Tve 6) 8" 105, LE
153 1 Laver 5/8" Tvne X Plaster base with olaster veneer 874.65 SE 10% 96212 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
154 49 GB Sheet Sheets
155 ‘Sandina Disc| h
156 250 Tave Roll Rolis
157 Joint Compound| Gallons.
158 Joint Compound| Each
150 114" Drvwall Screws| Pounds.
160 1-1/4" Drvwall Screws| Case
161 Soonaes| Each
Interior non bearina Wall (Tvne 1) 3-5/8" 760, LE
1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on Each Side. 1281154 SE 10% 1409269 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
X0 GB Sheet| 356, Sheets
‘Sandina Disc| h
250 Tave Roll Rolls
Joint Compound| Gallons.
Joint Compound| Each
114" Drvwall Screws| Pounds.
114" Drvwall Screws| Case
170 Soonaes| Each
Interior non bearina Wall (Tvoe 1) 5-1/2" 372.00 LE
1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on Each Side. 619752 SE 10% 6817.27 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
49 GB Sheet] 173 Sheets
‘Sandina Disc| 3 h
250 Tave Rolll___17. Rolis
Joint Compound| 31, Gallons.
Joint Compound| 14, Each
114" Drvwall Screws| 33, Pounds.
1 1-1/4" Drvwall Screws| 1 Case
180 Soonaes| 6 Each
181 Assumed |interior_hearing Wall (Tvoe 2) 5-1/2" 542,00 LE
182 Assembly _[2 Laver 5/8" Tvne X Plaster Base with olaster Veneer on Each Side 18.050.44 SE 10% 19865.38 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
183 49 GB Sheel] 502 Sheets
184 ‘Sandina Disc| Each
185 250 Tape Rolll 4 Rolls
186 Joint Compound| o Gallons.
187 Joint Compound| Eact
188 114" Drvwall Screws| o Pounds.
189 1-1/4" Drvwall Screws| Case
190 ‘Soonae Each
162 Exterior Wall (Tune 3) 612" 00 iE
191 1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on one Side 6.089.23 SE 10% 6608.15 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
192 49 GB Sheel] 170 Sheets
103 ‘Sandina Disc| Each
194 250 Tape Roll Rolis
195 Joint Compound| Gallons.
196 Joint Compound| Eact
197 114" Drvwall Screws| Pounds.
198 1-1/4" Drvwall Screws| Case
199 ‘Soonae 34 Each
200 Interiar Party Wall (Tvne 41 8" 188,00 iE
201 1 Laver 5/8" Tvne X Sound Break board 1.566.04 SF 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
202 40 GB Sheel] 4 Sheets
203 andina Disc| Each
204 250 Tape Roll Rolis
205 Joint Compound| Gallons.
206 Joint Compound| Each
207 -1/4" Drvwall Screws| Pounds.
208 1-1/4" Drvwall Screws| Case
200 ‘Soonae Each
Interiar Party Wall (Tvne 4 " 188,00 iE
210 1 Laver 5/8" Tvne X Plaster base 1.566.04 SF 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
211 49 GB Sheel] 4 Sheets
212 andina Disc| h
213 250 Tape Roll Rolis
214 Joint Compound| Gallons.
215 Joint Compound| Each
216 -1/4" Drvwall Screws| Pounds.
217 1-1/4" Drvwall Screws| Case
218 ‘Soonae Each
Interiar Party Wall (Tvne 4 " 188,00 iE
219 1 Laver 5/8" Tvne X Plaster base with veneer Plaster 1.566.04 SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 5000
220 49 GB Sheel] 4 Sheets
221 ‘Sanding Dist h
222 250 Tape Roll] Rolis
223 it C df Gallons.
224 Joint C o Each
225 114" Drvwall Screws| Pounds.
226 1-1/4" Drvwall Screws| e
227 ‘Soona Each
228 Carridor_hearina Wall (Tvna 5 5-1/2" 528,00 iF
229 1 Laver 5/8" Tvne X Sound Break board 439804 SE 10% 4838.06 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
230 49 GB Sheet| 123 Sheets
231 ‘Sanding Dist 2 Each
232 250 Tae Roll 12, Rolis
233 Joint C a2 Gallons.
234 L C d 10 Each
235 114" Drvwall Screws| 24, Pounds.
236 1-1/4" Drvwall Screws| ¥ e
237 ‘Soona 4, Each
238 Carridor_hearina Wall (Tvna 8 5-1/2" 528,00 iF
239 1 Laver 5/8" Tvne X Plaster base and veneer plaster 439804 SE 10% 4838.06 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
0 49 GB Sheet]| 123 Sheets
‘Sanding Dist 2 Each
250 Tae Rol 12, Rolis
Joint C a2 Gallons.
i C d 10 Each
114" Drvwall Screws| 24, Pounds.
1-1/4" Drvwall Screws| ¥ e
‘Soona 4, Each
248 Carridor_hearina Wall (Tvna 5 5-1/2" 528,00 iF
249 2 Laver 5/8" Tvne X Plaster base with olaster veneer 8.796.48 SE 10% 967613 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
250 49 GB Sheet] 245 Sheets
251 ‘Sanding Dist Each
250 250 Tape Roll] Rolis
253 Joint C df Gallons.
254 L C 7l Each
255 114" Drvwall Screws| Pounds.
256 1-1/4" Drvwall Screws| 34 Case
257 Soonoes| 1 Each
258 Stairwell Wall or Gmu Wall (Tvne &) 8" 102 IF
250 1 Laver 5/8" Tvne X Plaster hase with olaster veneer 57.99 SE 10% 94379 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
260 49 GB Sheel] Sheets
261 ‘Sandina Disc| Each
262 250' Tane Roll Rolis
263 Gallons.
264 Each
265 114" Drvwall Screws| Pounds.
266 1-1/4" Drwall Screws| Case
267 Soonoes| Each
240 Interiar non hearing Wall (Tvne 1) 3-5/8° 767 IF
268 1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on Each Side. 12.77822 SE 10% 14056.04 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
260 40 GB Sheel] 355 Sheets
270 ‘Sandina Disc| 7 Each
271 250 Tane Rol| 34, Rolis
272 64. Gallons.
273 28, Each
274 114" Drvwall Screws| 68, Pounds.
275 1-1/4" Drwall Screws| 3 Case
276 Soonces| 13, Each
277 Interiar non hearing Wall (Tvne 1) 512" 372,00 IF
278 1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on Each Side. 619752 SE 10% 6817.27 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
279 40 GB Sheel] 173 Sheets
280 ‘Sandina Disc| 3 Each
281 250 Tane Rol|__17. Rolis
282 a1 Gallons.
283 14, Each
284 114" Drvwall Screws| 33, Pounds.
285 1-1/4" Drwall Screws| T Case
286 Soonoes| 6 Each
287 Assumed |interior_hearing Wall (Tvne 2 5-1/2" 540 00 iF
288 Assembly [ Laver 5/8" Tvoe X Plaster Base with olaster Veneer on Each Side 17.002.80 SE 10% 19792.08 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
280 49 GB Sheel] 500, Sheets
200 Sandina Disc| 1. Eact
201 250 Tane Rol| 4. Rolis
200 o Gallons.
203 A Each
204 114" Drvwall Screws| o Pounds.
205 1-1/4" Drwall Screws| Case
206 Soonces| 18, Each
268 Exterior Wall (Tune ) 517" 730,00 iF
207 1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on one Side 6.080.00 SE 10% 6688.99 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
208 49 GB Sheet] _ 169.00 Sheets
200 ‘Sandina Disc| 280 Eact




300 250 Tave Roll Rolls
301 Joint Compound| Gallons.
302 Joint Compound] Each
303 114" Drvwall Screws| Pounds.
304 1-1/4" Drvwall Screws| Case
305 Soonges| Each
306 Interior Party Wall (Tvoe 418" 188.00 LE
307 1 Laver 5/8" Tvpe X Sound Break board 156604 E3 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
308 49 GB Sheet P Sheets
300 ‘Sandina Disc| h
310 250 Tave Roll Rolls
311 Joint Compound| Gallons.
312 Joint Compound] Each
313 114" Drvwall Screws| Pounds.
314 1-14" Drvwall Screws| Case
315 naes| Each
Interior Party Wall (Tvoe 4 8" 188,00 LE
316 1 Laver 5/8" Tvne X Plaster base 156604 SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
317 49 GB Sheet P Sheets
318 ‘Sandina Disc| h
319 250 Tave Roll Rolis
320 Joint Compound| Gallons.
321 Joint Compound| Each
322 114" Drvwall Screws| Pounds.
323 1-1/4" Drvwall Screws| Case
304 Soonaes| Each
Interior Party Wall (Tvoe 4 8" LE
325 1 Laver 5/8" Tvne X Plaster base with veneer Plaster SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
326 49 GB Sheet Sheets
327 ‘Sandina Disc| h
328 250 Tave Roll Rolis
320 Joint Compound| Gallons.
330 Joint Compound| Each
331 114" Drvwall Screws| Pounds.
332 114" Drvwall Screws| Case
333 Soonaes| Each
T Carridor_bearing Wall (Tvne 5 612" 527.00 LE
335 1 Laver 5/8" Tvne X Sound Break board 438901 SE 10% 482890 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
336 49 GB Sheet] 122 Sheets
337 ‘Sandina Disc| Each
338 250 Tave Roll Rolis
339 Joint Compound| Gallons.
340 Joint Compound| Each
341 114" Drvwall Screws| 7 Pounds.
342 1-1/4" Drvwall Screws| 11 Case
343 Soonaes| 45 Each
Carridor_bearing Wall (Tvne 5 612" 527.00 LE
1 Laver 5/8" Tvne X Plaster base and veneer plaster 438901 SE 10% 482890 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
49 GB Sheet] 122 Sheets
‘Sandina Disc| Each
250 Tave Roll Rolls
s Joint Compound| Gallons.
350 Joint Compound| Each
351 114" Drvwall Screws| 4, Pounds.
350 1-1/4" Drvwall Screws| 11 Case
353 ‘Soonae 45 Each
354 Carridor_bearina Wall (Tvne 8 6-1/2" 527 iE
355 2 Laver 5/8" Tvne X Plaster base with olaster veneer 877982 SE 10% 9657.80 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
356 49 GB Sheel] 44, Sheets
357 andina Disc| Each
358 250 Tape Roll 3 Rolis
350 Joint Compound| Gallons.
360 Joint Compound| Eact
361 114" Drvwall Screws| Pounds.
362 1-1/4" Drvwall Screws| Case
363 ‘Soonae Each
364 Stairwell Wall or Gmu Wall (Tvne 6) 8" 102 iE
365 1 Laver 5/8" Tvne X Plaster base with olaster veneer 840,66 SF 10% 934,63 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
366 49 GB Sheel] Sheets
367 ‘Sandina Disc| Each
368 250 Tape Roll Rolis
369 Joint Compound| Gallons.
370 Joint Compound| Each
371 114" Drvwall Screws| Pounds.
372 1-1/4" Drvwall Screws| Case
373 ‘Soonae Each
347 Interiar non bearina Wall (Tvne 1) 3-5/ 767 iE
374 1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on Each Side. 12.77822 SF 10% 14056.04 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
375 40 GB Sheel] 355 Sheets
376 ‘Sandina Disc| 7 Each
377 250 Tane Roll] 34, Rolis
378 Joint Compound| Gallons.
379 Joint Compound| Eact
380 114" Drvwall Screws| Pounds.
381 1-1/4" Drvwall Screws| Case
382 ‘Soonae Each
383 Interiar non bearing Wall (Tvne 1) 517" 372,00 iE
384 1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on Each Side. 619752 SF 10% 6817.27 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 50.00
385 40 GB Sheel]| 173 Sheets
386 ‘Sandina Disc| 3 Each
387 250 Tae Rolll__17. Rolls
388 o[ a1 Gallons.
380 . a1 Each
300 114" Drvwall Screws| 33, Pounds.
301 1-1/4" Drvwall Screws| 1 Case
300 ‘Soona 6 Each
308 Assumed |interior_hearing Wall (Tvne 2 5-112" 540 00 iE
304 Assembly _[2 Laver 5/8" Tvne X Plaster Base with olaster Veneer on Each Side 17.002.80 SE 10% 19792.08 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
305 49 GB Sheet] 500, Sheets
306 ‘Sanding Dist Each
307 250 Tane Rolll 4 Rolis
308 Joint C: df Gallons.
300 Joint C: o Each
400 114" Drvwall Screws| Pounds.
401 1-1/4" Drvwall Screws| Case
402 ‘Soona Each
374 Exterior Wall (Tune ) 612" iF
403 1 Laver 5/8" Tvne X Plaster Base with plaster Veneer on one Side SE 10% 6688.99 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 5000
404 49 GB Sheel] Sheets
405 ‘Sanding Dist Each
406 250 Tape Roll] Rolis
407 C df Gallons.
408 Joint C: o Each
400 114" Drvwall Screws| Pounds.
410 1-1/4" Drvwall Screws| Case
411 ‘Soona Each
Interiar Party Wall (Tvne 41 " 188,00 iF
1 Laver 5/8" Tvne X Sound Break board 1.566.04 SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
49 GB Sheel] 4 Sheets
‘Sanding Dist Each
250 Tape Roll] Rolis
Joint C: df Gallons.
£ C 7l Each
4 114" Drvwall Screws| Pounds.
420 1-1/4" Drvwall Screws| Case
421 ‘Soona Each
Interiar Party Wall (Tvne 4 " 18R.00 iF
422 1 Laver 5/8" Tvne X Plaster base 1.566.04 SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
423 49 GB Sheel] 4 Sheets
424 ‘Sandina Disc| Each
425 250 Tane Roll Rolis
426 Gallons.
427 Each
428 1-1/4" Drvwall Screws| Pounds.
429 1-1/4" Drvwall Screws| Case
430 Soonoes| Each
Interiar Party Wall (Tvne 41 8" 1800 IF
431 1 Laver 5/8" Tvne X Plaster hase with veneer Plaster 1.566.04 SE 10% 172264 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
432 49 GB Sheet]| 4 Sheets
433 ‘Sandina Disc| Eact
434 250 Tane Roll Rolis
435 Gallons.
436 Each
437 1-1/4" Drvwall Screws| Pounds.
438 1-1/4" Drvwall Screws| Case
439 Soonoes| Each
0 Carridar_hearina Wall (Tvne & 5-1/2" 527 IF
1 Laver 5/8" Tvne X Sound Break board 438901 SE 10% 482890 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
49 GB Sheel] 122 Sheets
‘Sandina Disc| 2 Each
250 Tae Rol|__12. Rolis
22, Gallons.
10, Each
1-1/4" Drvwall Screws| 24, Pounds.
1-1/4" Drvwall Screws| v Case
Soonoes| 45 Each
450 Carridar_hearina Wall (Tvne 8 5-1/2" 527 iF
451 1 Laver 5/8" Tvne X Plaster base and veneer plaster 4389.01 SE 10% 482890 3000 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
452 49 GB Sheel] 122 Sheets
453 ‘Sandina Disc| 2 Each
454 250 Tae Rol__12. Rolis
455 2 Gallons.
456 10, Each
457 114" Drvwall Screws| 24, Pounds.
458 1-1/4" Drwall Screws| i Case
450 Soonoes| 45 Each
460 Carridar_hearing Wall (Tvne 8 5-1/2" 52700 IF
461 2 Laver 5/8" Tvne X Plaster hase with olaster veneer 8.779.80 SE 10% 9657.80 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00 $0.00
462 49 GB Sheel] Sheets
463 ‘Sandina Disc| 549 Each
464 250 Tane Rol|__23.00 Rolis
465 a4, Gallons.
466 19, Each
467 1-1/4" Drvwall Screws[ 7. Pounds.




468 104" Drvwall Screws| 233 Case
469 Soonges| 015 Each
470 Stairwell Wall or Cmu Wall (Tvoe 618" 102 13
a1 1 Laver 5/8' Tvoe X Plaster base with olaster veneer 9.66 SF 0% 53463 $000_|_§000 5000 5000 5000 5000 5000
472 40 GB Shee Sheets
473 ‘Sanding Disd] X Each
478 250 Tave Roll Rolls
475 Joint Compound| Y Gallons
476 int Comoound X Each
477 10" Drvwall Screws| . Pounds
478 104" Drvwall Screws| ¥ Case
479 Soonaes| Y Each
PREROCK Gypsum Board @ Walls Upto Deck
480 Assumed [PREROCK Gunsum Board @ Walls 4661074 | SF 0% 518171 | $000 | $000 5000 5000 5000 5000 5000
481 Assembl 48 GB Sheel] _ 1457.00 | Sheels
482 ‘Sanding Disc| 29, Each
483 250 Tave Rolll 122 Rols
481 Joint Compound| 2 Gallons
485 Joint Compound| Each
486 104" Drvwall Screws|__2: Pounds
487 104" Drwwall Screws| Case
488 Soonas Each
Resilent Channel
489 18" Channel @ 16" OC (10-1 112" H: 388 EA) 520425 sF 0% 572468 | _$000 | 5000 5000 5000 5000 5000 5000
490 718" Channel @ 16" OC (10-1 112" H: 398 EA) 535613 sF 0% 569174 | $000 | 5000 5000 5000 5000 5000 5000
91 18" Channel @ 16" OC (10-1 112" H: 398 EA) 535613 sF 0% 569174 | $000 | 5000 5000 5000 5000 5000 5000
422 18" Channel @ 16" OC (10 -0 /4 H; 398 EA) [ s sF 0% 596448 | $000 | 5000 5000 5000 5000 5000 5000
Ceiling |
493 Assumed | 5/8" Gvosum White Board Ceilina T50R700 | SF 0% 1659570 | _$000 | 5000 5000 5000 5000 5000 5000
491 4x17 GB Sheel] _ 315, Sheets
495 ‘Sanding Disc] Each
496 250 Tape Roll Rolls
497 Joint Compound| Gallons
408 Joint Compound| Each
499 104" Drvwall Screws| Pounds
500 104" Drwwall Screws| Case
501 Soonas Each
502 Assumed |5/ Guosum Board Ceiling (Dead Snace) 921 SF 0% 101640 | _$000 | 5000 5000 5000 5000 5000 5000
503 4x17 GB Shee Sheets
504 ‘Sanding Disc] Each
505 250 Tape Roll Rolls
506 Joint Compound| Gallons
507 Joint Compound| Each
508 104" Drvwall Screws| Pounds
509 104" Drwwall Screws| Case
510 Soonas Each
511 Assumed | 58" Gunsum White Board Geilina TEoo000 | SF 0% 1659900 | $000 | 5000 000 000 000 000 5060
512 417 GB Sheel] _ 315 Sheets
513 ‘Sandina Dis n
514 250 Tane Roll Rols
515 Joint Compound| Gallons
516 Joint Compound| Each
517 T-0/4" Drvwall Screws| Pounds
516 104" Drwwall Screws| Case
519 Soonas Each
520 Assumed |5/ Guosum Baard Ceiling (Dead Snace) ) SF 0% 88000 $000 | §000 000 000 000 000 5060
521 417 GB Sheal] 17 Sheets
520 ‘Sandina Dis Each
523 250 Tane Roll Rols
524 Joint Compound| Gallons
525 Joint Compound| Each
526 T-0/4" Drvwall Screws| Pounds
527 1-0/4" Drwwall Screws| Case
528 Soonas Each
520 Assumed | 58" Gunsum White Board Geilina TEow000 | sF 0% 1651100 | $000 | 5000 000 000 000 000 5060
530 417 GB Sheel] _ 313 Sheets
a1 ‘Sandina Dis Each
532 250 Tane Roll Rols
533 Joint Compound| Gallons
531 Joint Compound| Each
535 T-0/&" Drvwall Screws| Pounds
536 104" Drwwall Screws| Case
537 Soonas 7 Each
538 Assumed |5/ Guosum Baard Ceiling (Dead Snace) ) SF 0% 88000 $000 | §000 000 000 000 000 5060
539 417 GB Sheal] 17 Sheets
‘Sandina Dis Each
250 Tane Roll Rols
Joint Compound| Gallons
Joint Compound| Each
m T-0/4" Drvwall Screws| Pounds
104" Drwwall Screws| Case
Soonas Each
547 Assumed | 58" Gunsum White Roard Geilina Emao | sF 0% 1686180 | $000 | 5000 000 000 000 000 000
548 417 GB Sheel] __ 320. Sheers
549 ‘Sanding Dis ) Each
550 250 Tane Rolll 40, Rolls
551 77 Gallons
55 33 Each
553 1-0/a" Drvwall Screws| 81 Pounds
554 104" Drvwall Screws| 4. Case
555 Soonas 15, Each
556 Assimed |5/ Guosim Baard Ceiling (Dead Snace) 500 SF 0% 55000 $000 | §000 000 000 000 000 $000
557 417 GB Sheel| Sheers
550 ‘Sanding Dis Each
559 250 Tane Roll Rolls
560 Gallons
561 Each
562 T-0/4" Drvwall Screws| Pounds
563 1-0/a" Drwwall Screws| Case
564 Soonas Each
SUBTOTAL $000
PROJECTED COST| #REF!
OVERHEAD AND PROFIT|  20% H#REFL
INSURANCE| 3% #REFI
CONTINGENCY| 5% #REFL




